Q1.

Q2.

Q3.

Q4.

All fractions are rational numbers but all rational numbers are not
fractions. Explain with the help of an example of a rational number
which is not a fraction.

Answer: is a rational number but not a fraction because

State True or False:
a. All rational numbers cannot be represented on the
number line, e.g.: i.

b. Zero is a rational number.
All natural numbers are rational numbers.

o

d. If an integer is divided by another non-zero integer
the result is always an integer.

From the following options tick the rational number that has the same
standard form as ﬁ:

Y 28
84
20
YT,
1
C. 7

Find a rational number equivalent to %:

a. with numerator 15: Q

[]

[]

b. with denominator 15;: =

]




Q5. Represent the following rational numbers on a number line.

4 4

Q6. Match the rational numbers with their decimal equivalent:

20% 0.32
3.5 _0.175
- % 20.625
- 4—70 3.35

Q7. Fill in the blanks:

e -4

2 ,65_65. []
b. Zx===x=
138 8 [
9 9
. —Zx =_Z
“ 75 5
2.,1_2.
d Zx=-=%2-+
3 4 3
Q8. Simplify:
2 g)-foed
3 40/ \10 15
Answer:
b. (@x@)—(@x%)
7 10 11 2
Answer:
Q9. What number should be added to — 1_16 to get Z?
Answer:

Q10. The daily consumption of milk in a house is 2 % litres. Find the quantity
of milk consumed by the family in 30 days.

Answer:




Answers '

1. 0.97; it 1s a decimal number.
2. a. False; b. True; c. True; d. False
3. (b)
15 9
4. a. —=; b. =
25’ b 15
5.
o 1 1 _Il 1 1 ﬁ (I) i 1 1 i =
4 4
6.
5
20§ 20.625
7
20 3.35
_8
25 —0.32
A
40 —0.175
1 2 .
7. a 13,b. 13,(: 1;d. 4
T4 1
8. 21501
13
9. =
16

10. 82% litres




